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AN FHMEHD
Hu: el FHNA M)
el 2BTY FON(IERLBHLSLEH) EEREED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Z M & 2t 2,516,040 1,616,366 899,674
| 2,428,117
e 87,923
s =HAY HH| 1,850,050 1,616,366 233,684
| 1,762,127
s 87,923
SHPA FURNZ(HFEZFEHINLESLESA) 1,361,350 1,355,296 6,054
J| 1,361,350
B ABF0XA (DB 1,326,746 1,323,521 3,225
J| 1,326,746
307 Qiz2tol & 763,375 784,752 A 21,377
J| 763,375
02 It S AIHE L 763,375 784,752 N21,377
O B2 NIYFUNAAY
1,000,000& * 652%H 652,000
J| 652,000
O sS4 HEFUXJAY  96,375,000& 96,375
| 96,375
O HEU4H YUFUNBANL (ST 25 ¥
nE s&5294l) 15,000, 000& 15,000
| 15,000
401 Al HI & 2B 85,402 67,497 17,905
| 85,402
01 A& HI 85,402 67,497 17,905
O ¥sd=2H der=0X ALY 85,402,000 85,402
J| 85,402
402 RI2EXt20l M 477,969 471,272 6,697
| 477,969
01 A TtE=AEER 477,969 471,272 6,697
O BEHLN LUFVUNAAY
477,969,000& 477,969
J| 477,969
=PI =0XJAY B & B (JI3) 34,604 31,775 2,829
| 34,604
101 1A dl 20,338 18,977 1,361
| 20,338
4 JI2ZHZEXNSES 20,338 18,977 1,361
O FOAUXSAMNY AIREX 20,338
- 3= 43,000 = 260 11,180
| 11,180
- =g 43,0003 = 52 2,236
| 2,236
— ANZRAZ R 4,994 x 40AI2F + 128 2,398
| 2,398
- 9x==g 43,0003 = 15¢ 645
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| 645
- &3 43,0003 * 260 *x25% 2,795
J| 2,795
— ZE SO 43,000& *21+60%*2 & 1,084
| 1,084
201 L2l 5,866 4,998 868
| 5,866
01 At 22l 5,866 4,998 868
O FUXJAY LEAIR & HEFAH|
5,866, 000& 5,866
| 5,866
202 o4dl 5,400 4,800 600
| 5,400
01 = LH o4 1l 5,400 4,800 600
O FUNAMNY 27 ofYl
20,0003 = 3% = 90 5,400
| 5,400
301 L2 L= 3,000 3,000 0
| 3,000
09 HALAHIEA S 3,000 3,000 0
O FOAXRAY =7 X A8ty
3,000,000 3,000
| 3,000
Asd A2 NS NA(BEZSHFIMNLSESH) 488,700 261,070 227,630
| 400,777
s 87,923
HARRS D2t A2 (012) 286,719 64,500 222,219
J| 226,777
s 59,942
401 Al Bl 28I 199,719 0 199,719
J| 159,775
s 39,944
01 A& HI 199,719 0 199,719
O 8aIXA ot=XMeld U=4HHl
199,719,000& 199,719
| 159,775
s 39,944
402 QI2H X201 M 87,000 0 87,000
J| 67,002
s 19,998
02 BI2HCH & A& HI 87,000 0 87,000
O gaxX49 ot=XHel&d szl
87,000,000 87,000
| 67,002
s 19,998
FEY AXJAAXY 221(012) 134,000 134,000 0
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J| 134,000
101 14l 98,377 98,377
J| 98,377
02 JIEH R 2+ 81,377 81,377
O B33 & 70,851
- 3= 2,271,500& » 29 128 54,516
J| 54,516
— A= 6,103
Hoag
2,271,500& * 50% * 2% = 23] 4,543
J| 4,543
Boag JHa3
(50,0003 »12& )+(80,000& x12¢ ) 1,560
J| 1,560
— N2y
74913 * 40A12t » 128 + 2Y 7,192
J| 7,192
- JIE=xE 1,920
bH < Xt 40,000 = 128 x 29 960
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2AIE 20,0003 = 4% = 123 960
J| 960
— XEsd ExxY 1,120
nE=3-ImIQF=Np 280,000& 1 43| 1,120
J| 1,120
O =T ZUIAY)
130,000& » 2¥ » 12& 3,120
J| 3,120
O BEZE FEHIHY
2,271,500& * 60% * 23| * 2¥ 5,452
J| 5,452
O FYFZE A2 4|
2,271,500% *86%1/30*x2H 15 1,954
J| 1,954
04 JIZtHZ2XREES 17,000 17,000
O yapeiNe FEHH 22y
50,000& = 10Y¥ = 20 10,000
J| 10,000
O &2l XY 2 Il=HA
50,000& = 10¥ = 14« 7,000
J| 7,000
201 LBH2E| 14,588 14,588
J| 14,588
01 At 2t 2l 8,655 8,655
O e+l 7,155
- mEY NtERSIY U2 N
100,000& * 5JH A 500
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SA: AR
Hu: el FHNA M)
ol BEY MaR ATNM NA(HERLEHASEEH) CERED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O o4=3Bs79 oHHANE =
1,000,000& * 30 A 3,000
| 3,000
O 44257 IHEZH H .22
3,000,000& 3,000
| 3,000
403 XAXISH M S K201 A 5,315 5,315 0
| 5,315
02 3|25 0l CHShCH & At & HI 5,315 5,315 0
O &Y ER= 22 X2lHE& 5,315,000& 5,315
J| 5,315
NEY M3 2ZMA 0lBlbl(012) 27,981 22,051 5,930
801 GilBI 8l 27,981 22,051 5,930
01 Etoilgl Bl 27,981 22,051 5,930
O & &3 &4 oldlbl 27,981,000& 27,981
egsE2(I13) 40,000 40,519 A519
J| 40,000
207 Ao &I 40,000 40,519 A519
J| 40,000
01 A2 ESHI 40,000 40,519 A519
O Fsd2el 29| 40,000,000 40,000
| 40,000
MWEes(NSZHMOHE D) 665,990 0 665,990
| 665,990
UWEHAXES(ZEZENE)N(EEZSENEEL A 665,990 0 665,990
)
| 665,990
HEHH(EEZENY) 665,990 0 665,990
| 665,990
701 JIEISI HSHES 665,990 0 665,990
| 665,990
01 JIEtSIHE &3 665,990 0 665,990
O 480 s0E Ot2ot=% &l
129,000,000& *23.5% 30,315
| 30,315
O ¥EH ot=HMelAlE ¥ ot=2tH FHbl
600,000,000& *23.5% 141,000
| 141,000
O ol=224 BTLYUHZ 1,106,000,000& *23.5% 259,910
| 259,910
O ot G2t EHI ALY
999,000,000& *23.5% 234,765
| 234,765




